














The first girl is helpful. The second girl is
helpful, too. The second girl is as helpful
as the first one.




Honey is sweeter than sugar.
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UckaroueHus
c00d — better — the best
bad — worse —'the worst







Bruimure B rmpeaioKeHus
IIPONYINEHHbIC MPUJIararejbHbIC B
CPABHUTEJIbHOU WJIHA B MPEBOCXOTHOM
CTCICHU




These birds are bright b
and beautiful. The Fightest,
second bird is the =y ;

(bright) but the first cautiful
bird is the (beautiful) -
of all. = e



\

The first clown is funny. The second
clown is funny, too. But the second clown -
is (funny) than the first clown.




These men are old. The first man is @
the (old) of all. The third man is the °

(young).




These families are not big. But the second @
family is (small) than the first family. The °
first family is (big).




The yellow car is expensive. The red car
is expensive, too. But the red car is
(expensive) than the yellow car.




The first man is fat. The second man @
is fat, too. But the first man is (fat) than s
the second man.




These boys are strong. But the third boy @
is the (strong) of all. C




The first dancer is slim. The second @
dancer is slim, too. But the first danceris —
(slim) than the second dancer.




The first butterfly is bright and @
beautiful. The second butterfly is bright =

and beautiful, too. But the second
butterfly is (bright) and (beautiful) than
the first butterfly.




The girl is brave. The boy is brave, @
too. But the girl is (brave) than the boy. -




\
Coffee is (strong) than tea.




The white car is fast. The grey car is
fast. The red car is fast, too. But the grey

car is (fast) than the red car and the white
car. The grey car is the (fast).

-




The first girl is angry. The second girl
is angry, too. But the second girl is (angry)
than the first girl.




The boy is messy. The girl is messy, too.

But the boy is (messy) than the girl.




These houses are big and comfortable.
The first house is the (big) and the
(comfortable).




\
The first boo is interesting. The second
book is (interesting) than the first book.
The third book is the (interesting) of all.
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The first clown is funny. The second
clown is funny, too. But the second clown -
is funnier than the first clown.




These men are old. The first man is @
the oldest of all. The third man is the °

youngest.




\

These families are not big. But the second @

family is smaller than the first family.
The first family is bigger.




The yellow car is expensive. The red car
is expensive, too. But the red car is
more expensive than the yellow car.




The first man is fat. The second man
is fat, too. But the first man 1is fatter
than the second man.




These boys are strong. But the third boy @
is the strongest of all. C




The first dancer is slim. The second @
dancer is slim, too. But the first danceris —
slimmer than the second dancer.




\
The first buttertly is bright and @

beautiful. The second butterfly is
bright and beautiful, too. But the second
butterfly is brighter and more beautiful
than the first butterfly.




\
The girl is brave . The boy is brave, @

too. But the girl is braver than the boy.




\
Coffee is stronger than tea.




The white car is fast. The grey car is
fast. The red car is fast, too. But the grey

car is faster than the red car and the white

car. The grey car is the fastest.




\

The first girl is angry. The second girl
is angry, too. But the second girl is angrier
than the first girl.




The boy is messy. The girl is messy, too.

But the boy is messier than the girl.




\
These houses are big and comfortable.
The first house is the biggest and the most
comfortable.




The first boo is interesting. The second
book is more interesting than the

first book. The third book is the most

interesting of all.
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